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ENGINEERING & MANAGEMENT EXAMINATIONS, DECEMBER -~ 2008
INDIAN SOCIAL STRUCTURE AND VALUES & ETHICS IN BUSINESS

SEMESTER - 1

Time : 3 Hours }

‘ GROUP - A
( Multiple Choice Type Questions )

1. Choose the correct alternatives for the following_ :

)

i)

i)

iv)

The Jawahar Rozgar Yojana was launded in

a) 1990 b) 1989
c) 1986 d) 1995.
ITDP means

.a) Indian Tribal DeVélopment Projects

b)  Integrated Tribal Development Projects

c) International Tribal Development Projects

d) None of these.

Tribe stands for a/an

a). social group \b) community

€)  exogenous group d) association.

Sex ratio means
a) numbgr of females per thousand female
b) number of females per thousand male

c). number of males per thousand female

d) number of child per thousand female.
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v)

vi)

vii)

viii)

Class struggle is most intense in a

a) Feudal soceity b) Primitive soceity

c) Capitalist society d) Sociah§t sbciety. :]
Identify the nation which is not a part of SAARC :

aJ. Sri Lanka b) Thailand

c) The Maldives d) Bhutgn. :]
Identify the exponent of Social éon&aet Theo_ry :

a) Locke b) Rousseau

¢}  Hobbes d  Adam Smith, [
“Whistle Blowing" is

a) an ethical code of an organisation

b) making railways travel safer

c) making public the immoral or illegal activity of some employer or

organisation

d}  none of these. o [:|

Which of the following terms refers to the set of written rules that state how the

people in a particular organization should behave ?

a) Corporate mission b) . Corporate values

c) Corporate cbde d) Corporate rules. l:|
According to which concept of ethics is an aét ethical if it maximizes happiness ?

a) Ethical subjectivism b) Ethical relativism

c) Cansequentialism d) Ethics of virtue. [:]
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GROUP - B
( Short Answer Type Questions )

Answer any three of the following : 3x5=15

What is an agrarian society ? Write in brief the characteristics of an agrarian society.
2+3

Write a brief note on the success of the enactment of the Environmental Protection Act

in India. ' 5

What do you mean by occupational disease ? What are the protection one should take

to avoid such diseases ? 2+3
What do you mean by quality of life index ? 5
Write a. brief note on Indian Value System. ' 5
GROUP - C
(Long Answer Type Questions )
‘Answer any three of the following. 3x15=45

What do you mean by corporate social reporting ? Who are the users of corporate

social reports ? : 7+8
Why should the comipanies be ethical ? What do you mean by stakeholders ? 8- +7
Explain the nature and objectives of 'ethics’. What do you mean by work ethics ?

10 +5

gO. What do you mean by Total Quality Management ? How can TQM improve

operations ? 7+ 8

1. What is meant by poverty ? What are the causes and consequences of poverty ?

5+ 10
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12. Write short notes on any three of the followmg :
a) Child abuse
b)  Narcotic addiction
c) Alcoholism
d) Non-violence

e) Role of NGOs.

END
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